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1. Give complete definitions for each:
a. A set of vectors vs, vy, ... Vn is linearly independent : s

n. A function 7 from a vector space V to a vector space W 1s a linear ftransformation

o.. The mairices A and B are simiiar

d. The scalar X is an eigenvalue of the matrix A

1. Problems: (Justify answers.)
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Xy o+ 2%Xp + 3%z = O i - 3 [ I /\ % Y L 5 IS -j \ﬂ?
. - . ey (3 (D [
3)(1 + 6)(2 + 11)(3 = 6 i ‘"'i 2 L : 3 | ‘ C & - ; E
IS ANTE A T NS A
b : W, - ‘ -
T2 2]
H - oz
T j O o} ~
I c = O] w
& .
 f . N o & ff}\’ ™y » {J.-v (
- Sy T £ A
o4 24 A3 T IR i!g LD
ni%n % gz’} !5 P :
N2 hey [9d L3
L9



2. Find the eigenvaluses of
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4. The matrix A and its row-echelon form are:
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b. The row space is a _.2_ dimensional subspace of _/_i;ﬁ_ i N
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<2 5. Find the inverse of
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5. Find the eigenvalues and eigenvectors of
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7. Find a basis for the subspace spanned by the veciors (1,2,3,-2), (2,4,7,-2), and
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, 8. Consider the set of polynomials p(x) = ag + a;x + apx? for which a; = 0.
7 a. Give an example of such a poiynomial.

b. Show that this set is a subspace of P;.

¢. Find a basis and the dimension.
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